y
8
6
6 ,
(multistage sam-
pling) 753
353 179 174
400 207
193 ya
753 100
y ' ,
(SPSSX)
ya y 3
1 6
ya 6
ya 5
2
6
6 13
3
6 ,

14 2



1
ya
5
y
10
11-13
14
2 - 4
5 - 1
1

ya

~ (N=386)

380

179
207

375

189
162
35

0.3
98 .4
13

46 4
53.6

97 .2
1.8
1.0

49 .0
42.0
9.0

ya

366

174
193

361

167
168
32

(N=367)

0.3
99 .7

41 4
52.6

98 4
11
0.5

45.5
45 8
8.7

3l

(N=753)
2 0.3
746 99 .0
5 0.7
353 46 .9
400 53.1
736 97 7
11 15
6 0.8
356 47 3
330 43 8
67 8.9



«

(N=386)
117 30.3
g 21
8 223
73 189
=T
59 15.3
13 34
A4
12 3.0
5 13.2
2 05
136 35.2
58 15.0
103
4192
15 111
5 2.1
13 3.4

«

«

(N=367)
110 30.0
5 2.2
101 275
59 16.1
8 2.2
45123
12 33
12 33
12 3.1
52 142
2 0.5
132 36.0
5 13.9
2 05
72 196
37101
9 2.5

10

2.1

32

(N=753)

227
16
187
132
13
104
25
25
24

103

168
109

146
80
17
23

30 .1
2.1
24.8
17.5
1.7
13.8
3.3
3.3
3.4

16 .7
0.5
35.6
13.5
0.4
18.1
9.0
3.0

3.2



(N=>386)

7 2.8
37 10.6
152 30 .4
40 114
25 7.5
50 14.0
21 6.4
38 10.8
16 61
13 3.4
3 8.0
213 55.2
30 7.8
20 2
3l 8.1
14 3.5
21 7.0

I 1.8

(N=367)
6 17
2 6.0
155 42.2
R
G
52 14.2
23 6.3
390
14 348
21 51
2 6.0
195  53.1
0 8.2
15 4.1
3 9.0
2 6.0
23 6.3
6 16

33

(N=753)
13 1.9
59 78
307 408
1 9.4
56 7.4
102 135
4 58
71 9.4
0 4.0
345
53 7.0
408 54.2
60 8.0
3B 4.6
64 8.5
% 48
50 6.6
13 18



34

5 6 11
13 ' 99.0 14 0.7
53.1
46.9 99.7
1.5
2-4 473 5-7
43.8 30.1
24 8
35.6 18.1
4 40.8 54.2
13.5 8.5
11-13
98 .4 14 1.3
53.6
46.4 97.2
1.8 2-
4 49.0 5-7 42.0
30.3
223 35.2
19.2
4 30.4 55.2
14.0 8.1
11-13 99.7
10 0.3
52,6 47.4
98 .4

11 5-7 45.8



35

2-4 45,
30.0 27.5
36.0
19.6
4 42.2 53.1
14.2 9.0

B



22.7

78.6

(60-69)
(70-79)

(80' 100)

80

76.0

2
139

186
255

171

753

753)

0.3
LA

24.7
33.8

22.1

100.0

74

89
138

83

386

80

386)

0.5
19.2

23 .1
35.7

215

65

97
117

88

367

36

YU (t-lesL)

= 367)

17.7

26 4
3.9

24 0

100 .0

13

17.3



1-6

0.98

0.97

0.95

0.94

0.94

0.92

0.90

0.90

0.89

- 753)

S.D.

0.15

0.17

0.22

0.25

0.24

0.28

0.31

0.30

0.31

(N = 386)

0.97

0.96

0.95

0.94

0.93

0.90

0.86

0.89

0.88

S.D.

0.17

0.21

0.22

0.24

0.26

0.30

0.35

0.31

0.33

(N = 367)

0.98

0.98

0.95

0.93

0.95

0.93

0.93

0.91

0.90

S.D.

0.13

0.13

0.22

0.25

0.23

0.26

0.25

0.29

0.30

-1.33

-2.24

-0.00

0.33

-0 .88

-1 .36

-3 40

-0.74

-0 91



10. !

12. ,

13.

14,

15.

16 .

17,

18.

<p < 05 (.05 t0=+ 1.96)

(N = 753)

0.84

0.80

0.79

0.78

0.66

0.50

0.47

0.46

0.11

0.77

S.D.

0.37

0.40

0.41

0.42

0.47

0.50

0.50

0.50

0.32

0.10

M -

0.84

0.77

0.82

0.75

0.66

0.47

0.44

0.51

0.13

0.76

386)
$.D.
0.37

0.42

0.39

0.43

0.48

0+50

0.50

0.50

0.33

0.11

(N = 367)

0.85

0.82

0.76

0.80

0.66

0.52

0.50

0.41

0.10

0.77

S.D.

0.36

0.38

0.43

0.40

0 .47

0.50

0.50

0.49

0.30

0.10

38

-0 .40

-1 .65

2.05

-1 .65

-0.19

-1.3%5

-1 .68

2.59

1.25

-1.74



17

»

0.76

39

, 0.77

0.77 ]

05

.05 4 2, 17, 12



(N = 753)

0.90

0.89

0.85

0.75

0.74

0.71

0.63

0.62

0.58

S.D.

0.31

0.32

0.36

0.43

0.44

0.46

0.48

0.49

0.49

(N = 386)

0.89

0.88

0.83

0.73

0.74

0.73

0.63

0.62

0.61

S.D.

(N = 367)

0.90

0.90

0.86

0.77

0.74

0.69

0.63

0.61

0.55

S.D.

0.29

0.30

0.34

0.42

0.44

0.46

0.48

0.49

0.50

40

-0 .83

-1.02

-1.02
-1 .20

-0 .08

1.17

0.08

0.10

1.48



41

(N = 753) (N = 386) (N = 367) 't
X SD. X SD. X SD.

10.

057 050 058 050 056 050 0.46
11,

0.45 050 046 050 0.44 050 054
12.

’ 021 0.41 0.40 0.22 0.42 -0.63

066 0.18 0.66 0.18 0.66 0.18 0.04

* P <05 (05 t =+ 1.96)

0.66

' 0.66

.05

.05



0.92

0.79

0.79

0.78

0.35

0.73

%, < 05 (05 t0= + 1 9)

0.72

0.73

- 753)

S.D.

0.27

0.41

0.41

0.41

0.48

0.20

(N = 386)

0.94

0.77

0.84

0.76

0.35

0.73

S.D.

0.25

0.42

0.37

0.42

0.48

0.20

(N = 367)

0.90

0.80

0.72

0.80

0.35

0.72

S.D.

0.29

0.40

0.45

0.40

0.48

0.21

0.73

42

1.29

-0.98

3.93

-1.22

-0.05

1.01



.05

.05

3
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10

«

(N = 753)

0.84

081

0.42

0.19

0.56

« P < .05 (.05 ted =+ 1.96)

»

10

0.55

0.57

S.D.

0.37

0.40

0.50

0.39

0.21

(N = 386)

0.81

0.79

0.44

0.18

0.55

S.D.

0.40

0.41

0.51

0.38

0.22

M =

0.80

0.82

0.40

0.19

0.57

367)
$D.

0.33

0.39

0.49

0.40

0.21

0.56

44

-2.82

-0 .85

1.09

-0.52

-1 .19



£l
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45



46

11 .
6

(N = 753) (N = 386) (N = 367) t

X S.D X S.D X SD
1. 092 0.27 0.92 0.27 0.92 0.27 -0.07
2. ,

080 041 0.80 040 0.79 041 0.08
3.

077 042 078 0.42 075 043 073
4,

075 043 073 045 0.78 041 -1.80
5.

0.75 0.43 073 045 077 0.42 -1 .45
6. 068 047 069 0.46 0.66 0.48 0.95
7.

' 067 047 0*65 0.48 0.69 0.46 -1.22

8.

053 0.50 053 050 052 050 051
9, 039 0.49 0.39 0.49 0.39 049 0.05
10, 022 041 0.26 0.44 018 0.38 2.66

0.65 0.18 0«5 0.19 0.65 0.18 0.08

*p < 405 (05 1=+ 1.96)



0.65

11

0.65

.05

05

47

10



12

(N = 753)
X S.D.

0.83 0.38

0.82 0.38

081 0.39

0.79 0.41

0.79 0.41

0.77 0.42

0.74 0.44

(N = 386)
X S.D.

0.84 0.37

0.79 0 .41

0.80 0.40

0.77 0.42

0.74 0.44

0.77 0.42

0.76 0.43

N -
X

0.81

0.86

0.81

0.81

0.84

0.77

0.73

367)
SD.

0.39

0.35

0.39

0.39

0.37

0.42

0.45

48

t

1.18

-0 .40

-1 .43

-3.42

-0.14

0.99



2 ()
|
6
8.
9. ,
10.
11.

*P < 05 (.05 10= + 1%06)

12

0.73

(N = 753
X SD.

0.73 0.45

0.65 0.48

0.62 0.49

0.52 0.50

0.73 0.20

(N = 386)

X

0.73

0.65

0.66

0.53

0.73

S.D.

0.44

0.48

0.47

0.50

0.21

(N = 367)

X

0.72

0.65

0.57

0.51

0.74

SD.

0.45

0.48

0.50

0.50

0.20

49

0.34

-0.10

2,50

0.45

-0 .36



0.74

05

10

0.73

50

.05



*p < .05 (.05 180 = + 1.96)

0.69

13

.05

13

(N = 753)

0.77
0.66
0.73
0.56
0.65

0.73

0.69

S.D.

0.10
0.18
0.20
0.21
0.18

0.26

0.12

(N = 386)

0.76
0.66
0.73

0.55
0.65

0.73

0.69

S.D.

0.11
0.18
0.20
0.22
0.19

0.21

0.12

(N = 367

0.77
0.66
0.72
0.57
065

0.74

0.69

S.D.

0.10
0.18
0.21
0.21
0.18

0.20

0.12

51

-1.74

0.04
1.01

0.08

-0.36

-0.39



il

14

(0-39)

(40-59)

( 0-100)

14
80
22.1

80

(5.D)

~-0

«
(N = 753)
2 i
139 185
186 24.6
¥bb 3 bl
227
753 100.0

48

80
137

88

353

ya

353)

13.6

221
38 .8

24.9

100.0

75.1

(N

2

9

106

118

83

400

14

= 400)

0.5
221

26 .6
29.5

20 .7

100 .0

79.3

52

'(t-test)

17.3



10.

15

1-6

e

0.97
0.97

0.96

0.95

0.95

0.91

0.91

0.90

0.88

0*85

353)
D,

017
0.17

0.19

0.23

0.21

0.29

0.28

0.30

0.33

0.30

(N = 400)

X

0.98

S.D.

0.13
0.18

0.25

0.26

0.20

0.33

0.28

0.31

0.28

0.44

-1.20
0.33

1.77

0.92

1.79

1.49

-0 .26

0.38

177

3.94



11.

12.
13.

15.

16.

17.

* . < 05 (.05 t0=

15

+ 1.96)

(N = 353)

0.82
0.82

0.64
0.53

0.47

0.44

0.10

0.77

S.D.

0.39
0.38

0.48
0.50

0.50

0.50

0.30

0.10

05

6*

(N = 400)

0.75
0.78

0.68
0.47

0.47

0.48

0.12

0.76

S.D.

0.44
0.42

0.47
0.50

0.50

0.50

0.33

0.11

54

2.36
1.68

-1 .00

1.49

-0.14

-1 .20

0.89

2.15
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10.

11,

16

X

0.92

0.89
0.88

0.84
0.79

0.78

0.66

0.65

0.63

0.61

0.47

S.D.

0.27

0.32
0.33

0.37
0.41

0.41

0.47

0.48

0.48

0.49

0.50

(N = 400)

X S.D.

0.87

0.81
0.90

0.59
0.72

0.70

0.49

0.59

0.63

0.55

0.44

0.33

0.39
0.31

0 .49
0.45

0.46

0.50

0.49

0.48

0.50

0.50

56

2.18

2 .87

-0 .73

1.1?
2.31

1.64

0.05

1.65

0.68



12.

*P <05 (.05

=+ 1.96)

16

(N = 353)

X

0.70

SD.

0.43

0.16

57

(N = 400) t
X S.D.

0.19 0.40 1.52

0.62 0.18 583

.05

.05 6



*P < .05 (.05 100=¢

17

1.96)

*

(N = 353) (N = 400)
X $D. X S.D.
0.92 0.28 0.93 0.26
0.86 0*35 0.73 0.45
0.83 0.38 0.74 0.44
0.82 0.39 0.76 0.43
0.43 0.50 0.28 0.45
0.77 0.19 0.69 0.20

6
05
05

58

-0 .50

4.32

3.03
2.14

4.37

5.79



18

¥, < 05 (.05 10 =+ 1.96)

05

18

(N =

0.86

0.84

0.42

0.18

0.57

353)

S.D.

0.35

0.37

0.51

0.38

0.21

.05

(N = 400)

X

0.83

0.78

0.41

0.19

0.55

S.D.

0.38

0.42

0.49

0.40

0.22

59

t

0.96

2.03

0.34

-0 .49

1.32



60

19
6
(N = 353) (N = 400) t
X S.D. X S.D.
1, 0.93 2.26 0.92 0.28 0.60
2. 0.81 0.39 0.78 0.42 1.02
3. 0.77 0.42 0.76 0.43 0.43
4, 0.74 0.44 076 0.43 -0 .64
5,
0.1 0.45 0.78 0.41
6.
0.66 0.47 068 047  -0.58
7. 0.62 0.49 0.73 045 —i
8.
051 050 054 050  -0.90
9, 0.33 0.47 044 050  -3.15
1o. 0.25 0.43 0.19 0.40 1.79
0.63 0.18 0.65 019  -1.86

*P< 05 (05 t0= + 1.96)

19 6

.05

.05 3 ;9,1 9



20

(N = 353)

X

0.84

S.D.

0.37

e 0.36

0.83

0.83

0.83

0.81

0.80

0.72

0.68

0.38

0.38

0.37

0.40

0.40

0.45

0.47

(N = 400)

X

0.81

0.80

0.76

0.79

0.75

0.73

0.69

0.73

0.62

S.D.

0.39

0.40

0.43

0.41

0.44

0.44

0.46

0.44

0.49

1.04

1.49

2.55

1.21

2.90

2.55

3.48

-0 48

1.65



20 (C )
(N = 353)
X S.D.
10,
' 0.66 0.48
11, 14
0.55 U.50
0.76 0.18

*P< .05 (.05 t0=1t 1.96)

20

05 5 3, 5, 6, 7, 10

(N = 400)
X S.D.

0.59 0.49

0.49 0.50

0.71 021

62

.97

1.63

3.57

05



2

* P< 05 (05 td) =

+

2

1.96)

05

(N = 354)

0.77
0.70
0.77
0.57
0.63

0.76

0.70

SD.

0.10
0.16
0.19
0.21

0.18

0.18

011

(N = 400)

0.76
0.62
0.69
0 55
0.65

0.71

0.66

S.D.

0.11
0.18
0.20
0.22
0.19

0.21

0.12

63

2.15

*
5.83
5.73
1.32
-1 .86

3.90

4.5

05
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